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TTosTOpeHue
1. Mano: 1g2 =a, lg3=5. Haiigure g 24,

Pemenve: 1g24 =1g8+1g3=3a+5b

2. Jlano: log, 2 =a, log,5=5b. Haiinure log;>.

Peinenue: - 10g6 5 B b b




TTosTOpeHue
3. lano: lg2=a, lg7 =b. Hauanre lg112.

Pemenne: 1g112 =1g7+1g16 = b + 4a

4. ano: log, 7 =a, log, 5=>5. Haitnure log;28.

Penienue:

14

28 l+log,2 TI%u o_g

1
log, 28 = 9514
log,, 5 log,, 5 log,, 5 b




TTosTOpeHue
2. Pemure HepaBeHCTBA

1) logg(x2 —4x+3)< ]

Penienue:

x:—4x+3>0

x?—4x+3<8

OTBerT:
(-L1); (3;5)



TTosTOpeHue
2. Pemure HepaBeHCTBA

2) log, Sx 1 <1
2—Xx

Penienue:

3x—1 3x-1
>

2—Xx 2—x

_ 5x -5
3x 1£2 X <
k2_‘)(; kZ—x

0 >0

0

OT1BerT:

N
W | —




TTosTOpeHue
2. Pemure HepaBeHCTBA

3)log,(x—1)+1log, x <1

Pemenue:
(
x—1>0
x>0

x’—x<2

OT1BerT:

(1; 2]



TTosTOpeHue
2. Pemure HepaBeHCTBA

4) 102’6+2 —47)< =2
™~

Penienue:

(252 _ 4% 5 ()

4

k2x+2_4x23 1<27 <3

OT1Ber:

[O; log, 3]



TTosTOpeHue
2. Pemure HepaBeHCTBA

50g5(x2 ~2x-3)<0
4

Penienue:

r , OTBerT:

"I'O'g;(X —2X = 3}7@'

3 (—o0; — 21; [4 +oo)
Klogs(x —2x - 3)21

x*—=2x-32>5

x?=2x—-8>0




TTosTOpeHue
2. Pemure HepaBeHCTBA

Y lg x—2
6) (—j <100
10

Penienue:

x>0, x#1

1g(%j < lg 100



TTosTOpeHue
2. Pemure HepaBeHCTBA

lg x—2
X
P 6) (Ej <100 (lgx—2)lgx—1)<2
CILICHUE: (lgx—3)lgx <0
O<lgx<3
Or1BerT:

(1;1000)




TTosTOpeHue
2. Pemure HepaBeHCTBA

X log, x—1
7) (—j <4
4

Penienue:

x>0, x#1

log, Gj < log, 4



TTosTOpeHue
2. Pemure HepaBeHCTBA

X log, x—1
7) (—j <4
4

Penienue:

x %1

(log2 X — 1)(10g2 X — 2) <2
(log, x —3)log, x < 0
0 <log, x <3

OTBeT:
(1; 8)



* TTosTOpeHue
3. Pemure ypaBHEHHE Q¥ 4 @ — 3.4 4 3.0 "

Pemerme: 23 4 8 =3.2% 462"

Creaaew saveny 2% =¢, >0

t* —3t7 —6t+8=0 Crpymmupyem craraemuic

(£ +8)+ (=3¢ —6t)=0

(t+2);tz ~2+4)-31+2)=0  Orger: 0: 2

(t+2)(* —51+4)=0
t=-2<0, t=1,




* TTosTOpeHue

4. Pemmire HEpaBEHCTBO, UCMOJIb3Ysl METOM PALIMOHAIN3AIINH

3x+2
1) lo >0 |1 > “Nv-1)>
) log, 1 dx og, v=0 (a-1)(v—-1)=20

5 .
PCHICHUE.  ChHayaJjia orpaHu4YeHus !

-

x>0, x#1

3x+2 2
) > () - 0=
Y. OTtBer: ( 7}

4—-4x

(x 1)(3x+2 j>0



* TTosTOpeHue

4. Pemmire HEpaBEHCTBO, UCMOJIb3Ysl METOM PALIMOHAIN3AIINH

4x +1
2) log, 6x—6<0 log v<0 (a-D(v-1)<0

5 .
PCHICHUE.  ChHayaJjia orpaHu4YeHus !

r

x>0, x#1

4x +1
>0 O1BeTt: (3,5 + )
6x—06

(x 1)(4x+1 j<0

6




3

Peuminre HepaBeHCTBASR

1) \/7 +log, x* >log, x° -3

)3 lg x—lg(2x2 +3x)

2) (377 +37 <1

3) 498> 587 _9 > ()




TTosTOpeHue

Pazoop /13- OTBeTbI:
1) \/7+10g2 x> >log, x° =3 D (_2;_2_3,5];
e N
2)(0:3)

3) 49" — 517 2 >
3) (1, 510g27]



